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PART - III

PnUS¨£vÂ¯À / ACCOUNTANCY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Versions)
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!6718Accountancy!

£Sv & A / PART - A

SÔ¨¦ : AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 30x1=30

Note : Answer all the questions.

I. ÷Põimh Ch[PøÍ {µ¨¦P.

Fill in the blanks.

1. AhUPÂø» AÀ»x __________ Âø» CvÀ Gx SøÓ÷Áõ A¢u
Âø»°À CÖv \µUQ¸¨¦ ©v¨¤h¨£k®.

Closing stock is valued at cost price or __________ price whichever is lower.

2. C¸¨¦ {ø»U SÔ¨¤À PhÜ¢÷uõº «uõÚ uÒÐ£i JxURk
__________ ¼¸¢x PÈzxU PõmkuÀ ÷Ásk®.

Provision for discount on creditors is deducted from __________ in the balance
sheet.
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3. 1.4.2013 C¸¨£õ´ÂÀ Á[QUPhß  `  5,00,000 Á[Q Ámi Ãu®
BskUS 12% Ámi ö\¾zv¯x ` 30,000.  31.3.2014 AßÖ {¾øÁ°À
EÒÍ Ámi ` __________ .

The trial balance shows a Bank loan ` 5,00,000 at 12% interest on 1.4.2013.  Interest
paid is ` 30,000.  Interest outstanding is ` __________ on 31.3.2014.

4. __________ J¸ £¯ÝÒÍ P¸Â¯õP öµõUP vmh¨£mi¯À EÒÍx.

Cash budget is useful tool for __________.

5. J¸ {ø» AÔUøP __________ ÷£õßÖ ÷uõØÓ©ÎUS®.

A Statement of Affairs resembles as a __________.

6. |Øö£¯º J¸ __________ ö\õzx.

Goodwill is an __________ asset.

7. C¯¢vµzvß ÂØ£øÚ Âø» ` 4,00,000. ÂØÓvÀ HØ£mh C»õ£®
` 36,000 GÛÀ, C¯¢vµzvß Hmk ©v¨¦ ` __________.

If the selling price of a machinery is ` 4,00,000 and profit on sale is ` 36,000, the
book value of the machinery is ` __________.

8. SzuøPPÒ «x ÷u´©õÚ® PnUQh __________ •øÓ
£¯ß£kzu¨£kQÓx.

__________ method of depreciation is used in the case of lease.

9. Bsk öuõhUPzvÀ \µUQ¸¨¤ß ©v¨¦ ` 33,000. Bsk CÖv°À
\µUQ¸¨¤ß ©v¨¦  `  17,000 GÛÀ \µõ\› \µUQ¸¨¤ß ©v¨¦
__________.

The opening stock and the closing stock are ` 33,000 and ` 17,000 respectively.
The average stock is __________.

10. J¸ ö£õÖ¨¤ß ©v¨¦ AvP›US®÷£õx Ax __________ CÚ©õS®.

When the value of liabilities increases, it results in __________.
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11. £Qº¢xuµõ C»õ£® C¸¨¦{ø»U SÔ¨¤ß __________ £UPzvÀ
÷uõßÖ®.

Undistributed Profit will appear on the __________ side of the balance sheet.

12. öµõUP vmh¨£mi¯À __________ GßÖ® AøÇUP¨£kQÓx.

Cash budget is also called as __________.

13. __________ ÂQu[PÒ {ÖÁÚzvß |h¨¦ ö\¾zxøP vÓøÚ
AÍÂkQßÓÚ.

__________ ratio measures the firm’s ability to pay off its current dues.

14. C¸ AøÇ¨¦PÐUQøh÷¯ C¸UP ÷Ási¯ Põ» CøhöÁÎ
__________ BS®.

There should be a gap of __________ between two calls.

15. J¸ {Ö©® JßÖ  ` 10 ©v¨¦øh¯ 1,00,000  £[SPøÍ ö£õx©UPÐUS
öÁÎ°mhx. AÁØÔÀ 70,000 £[SPøÍ ©mk÷© ö£õx©UPÒ Áõ[P
J¨¦U öPõshõÀ A¢{Ö©zvß J¨¤¯ •uÀ ` __________ BS®.

A company issued 1,00,000 shares of ` 10 each to the public but only 70,000
shares were subscribed.  Its subscribed capital is ` __________.

II. öPõkUP¨£mh ‰ßÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯ Âøh°øÚ
÷uº¢öukzx SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊxP.

Choose the most suitable answer from the given three alternatives and write the option

code and the corresponding answer.

16. öPõk£h ÷Ási¯ ÁõhøP J¸ :

(A) ö£õÖ¨¦ (B) ö\õzx (C) Á¸©õÚ®

Rent outstanding is :

(a) a liability (b) an asset (c) an income

17. Gk¨¦ «uõÚ Ámi PÈUP¨£kÁx :

(A) Á¸©õÚzv¼¸¢x (B) •u¼¼¸¢x (C) ö\»Â¼¸¢x

Interest on drawings is deducted from :

(a) Income Account (b) Capital Account (c) Expense Account
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18. ö©õzu »õ£® ©õØÓ¨£k® PnUS :

(A) •uÀ PnUS

(B) C»õ£ |mh PnUS

(C) CÁØÔÀ HxªÀø»

Gross profit is transferred to :

(a) capital account

(b) profit and loss account

(c) none of these

19. Phß ÂØ£øÚø¯ AÔ¯ EuÄ® PnUS :

(A) ö\¾zxuØS›¯ ©õØÖa^mk PnUS

(B) ö©õzu PhÚõÎPÒ PnUS

(C) ö©õzu PhÜ¢÷uõº PnUS

Credit sales is obtained from :

(a) bills payable account

(b) total debtors account

(c) total creditors account

20. ` 10,000 BskUS 10% Ãu® SøÓ¢x ö\À ©v¨¦ •øÓ°À ÷u´©õÚ®
}UP¨£mhõÀ •uÀ 3 BskPÐUS ÷u´©õÚz öuõøP°ß ö©õzu® :

(A) ` 2,107 (B) ` 2,710 (C) ` 2,701

Total amount of depreciation provided on the written down value method at the
rate of 10% per annum on ` 10,000 for first three years will be :

(a) ` 2,107 (b) ` 2,710 (c) ` 2,701

21. J¸ {ÖÁÚzvß |h¨¦ ö\õzxUPÒ ` 80,000 ©ØÖ® |h¨¦ ö£õÖ¨¦PÒ
` 40,000 GÛÀ, |h¨¦ ÂQu® __________ BS®.

(A) 1 : 2 (B) 1 : 1 (C) 2 : 1

If current assets of a business concern is ` 80,000 and current liabilities are
` 40,000, then the current ratio will be :

(a) 1 : 2 (b) 1 : 1 (c) 2 : 1
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22. vmh¨£mi¯À öÁÎ¨£kzxÁx :

(A) £n®

(B) A»SPÎß GsoUøP

(C) £n® ©ØÖ® A»SPÎß GsoUøP

Budget is expressed in terms of :

(a) money

(b) physical units

(c) money and physical units

23. {ø»•uÀ •øÓ°À TmhõÎUSU öPõkUP¨£k® Fv¯® £v¯¨£kÁx :

(A) |h¨¦ PnUQÀ

(B) •uÀ PnUQÀ

(C) |h¨¦ PnUS AÀ»x •uÀ PnUQÀ

Under fixed capital method salary payable to a partner is recorded :

(a) in current account

(b) in capital account

(c) either in current account or capital account

24. J¸ {Ö©® ÂkUP aTi¯ AvP£m\ AøÇ¨¦PÎß GsoUøP :

(A) JßÖ (B) Cµsk (C) ‰ßÖ

The maximum calls that a company can make is :

(a) one (b) two (c) three

25. TmhõÎ Â»S®÷£õx ¦v¯ C»õ£ £QºÄ ÂQuzv¼¸¢x £øÇ¯
C»õ£ £QºÄ ÂQuzøuU PÈzuõÀ Qøh¨£x __________ ÂQu® BS®.

(A) Buõ¯® (B) •uÀ (C) v¯õP®

At the time of retirement of a partner the difference between New Profit ratio
and Old Profit ratio is __________ ratio.

(a) Gaining (b) Capital (c) Sacrifice
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26. ¦v¯ TmhõÎ ÷\ºUøP°À __________ PnUQh¨£kQÓx.

(A) Buõ¯ ÂQu® (B) •uÀ ÂQu® (C) v¯õP ÂQu®

__________ is calculated at the time of admission of a new partner.

(a) Gaining ratio (b) Capital ratio (c) Sacrificing ratio

27. JÖ¨¤Ç¨¦U PnUQÀ ÁµÄ øÁUP¨£mh öuõøP ` 700.  JÖ¨¤Ç¨¦
ö\´u £[SPøÍ ©ÖöÁÎ±k ö\´u ÁøP°À |mh®  ` 200 GÛÀ
•u¼Ú Põ¨¦   ` __________ .

(A) ` 400 (B) ` 500 (C) ` 300

The amount credited to share forfeited account is ` 700.  The loss on reissue of
forfeited shares is ` 200.  Capital Reserve will be :

(a) ` 400 (b) ` 500 (c) ` 300

28. 2010 áÚÁ› 1 &À PhÜ¢÷uõº ` 1,21,000. 2010 i\®£º 31&À PhÜ¢÷uõº
öuõøP ` 1,30,000. AÆÁõsiÀ PhÜ¢÷uõ¸US AÎzu öµõUP®
` 2,09,000 GÛÀ AÆÁõsiÀ Phß öPõÒ•uÀ __________ BS®.

(A) ` 2,00,000 (B) ` 2,09,000 (C) ` 2,18,000

Creditors on 1.1.2010 is ` 1,21,000 and on 31.12.2010 is ` 1,30,000.  Cash paid to
creditors during the year is ` 2,09,000 then the credit purchases during the year
is :

(a) ` 2,00,000 (b) ` 2,09,000 (c) ` 2,18,000

29. ÷u´©õÚ® HØ£kÁx :

(A) ö\õzx ÷u´ÁøhÁuõÀ

(B) ö\õzvß \¢øuÂø» SøÓÁuõÀ

(C) £nzvß ©v¨¦ SøÓÁuõÀ

Depreciation arises due to :

(a) Wear and tear of the asset

(b) Fall in the market value of asset

(c) Fall in the value of money
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30. £[SPøÍ {Ö©® JÖ¨¤Ç¨¦ ö\´²®÷£õx A¢{Ö©zvß £[S •uÀ

__________.

(A) A÷u {ø»°À C¸US®

(B) SøÓ²®

(C) AvP›US®

When shares are forfeited the share capital of the company will :

(a) remain same

(b) reduce

(c) increase

£Sv & B / PART - B

SÔ¨¦: (i) GøÁ÷¯Ý® £zx ÂÚõUPÐUS Âøh¯ÎUPÄ®. 10x5=50

(ii) P¸zv¯À \õº¢u ÂÚõUPÒ JÆöÁõßÔØS® 50 ÁõºzøuPÐUS
ªPõ©À Âøh¯ÎUPÄ®.

Note : (i) Answer any ten questions.

(ii) Answer to theory questions should not exceed 50 words each.

31. Ti²ÒÍ Á¸©õÚ® GßÓõÀ GßÚ ?

What is accrued income ?

32. öµõUP¨ ö£ÖuÀPÒ I¢vøÚU TÖP.

Give five examples for cash receipts.

33. JØøÓ¨ £vÄ •øÓUS ÁøµÂ»UPn® u¸P.

Define single entry system.

34. ©Ö©v¨¥mk •øÓ°À ÷u´©õÚ® PnUQkuÀ £ØÔ SÔ¨¦ ÁøµP.

Write notes on revaluation method of depreciation.

35. £[S JÖ¨¤Ç¨¦ GßÓõÀ GßÚ ?

What is forfeiture of shares ?
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36. E¯º C»õ£® GßÓõÀ GßÚ ?

What is super profit ?

37. ÂQu® & ÁøµÂ»UPn® u¸P.

Define Ratio.

38. C¯¢vµzvß «x ÷u´©õÚ® ` 25,000. \›UPmk¨£vÄ, ©õØÖ¨£vÄ u¸P.

Give adjusting entry and transfer entry for Depreciation on machinery ` 25,000.

39. RÌUPsh ÂÁµ[PøÍU öPõsk {ÖÁÚzvß »õ£zøu PshÔP.

öuõhUP •uÀ ` 1,60,000

CÖv •uÀ ` 1,80,000

Gk¨¦   ` 36,000

TkuÀ •uÀ   ` 10,000

What shall be the profit of the concern if :

Opening capital ` 1,60,000

Closing capital ` 1,80,000

Drawings   ` 36,000

Additional capital   ` 10,000

40. ¤ßÁ¸® ÂÁµ[PøÍU öPõsk ÷|º÷Põmk •øÓ°À ÷u´©õÚ ÂQu®
PnUQkP.

ö\õzvß AhUPÂø» ` 1,00,000

CÖv ©v¨¦   ` 10,000

£¯ÚÎ¨¦ Põ»® 10 BskPÒ

From the following particulars, find out the rate of depreciation under straight line
method.

Cost of assets ` 1,00,000

Residual value   ` 10,000

Estimated life   10 years
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41. {ø»a ö\õzxUPÒ ÂØ£øÚ ÂQuzøu PnUQkP.

{ø»a ö\õzxUPÒ ` 1,00,000

÷u´©õÚ®   ` 25,000

ÂØ£øÚ ` 3,00,000

Calculate fixed assets Turnover Ratio :

Fixed Assets ` 1,00,000

Depreciation   ` 25,000

Sales        ` 3,00,000

42. |Øö£¯º Ph¢u |õßS BskPÎß \µõ\› C»õ£zvÀ ‰ßÖ Bsk
öPõÒ•uÀ GÚU öPõsk PnUQh¨£kQÓx. Ph¢u |õßS BskPÎß
»õ£[PÒ ¤ßÁ¸©õÖ :

2001 – ` 12,000 ; 2002 – ` 18,000

2003 – ` 16,000 ; 2004 – ` 14,000

|Øö£¯›ß ©v¨ø£U PnUQkP.

Goodwill is to be valued at three years purchase of four years average profits.  The
profits for the last 4 years of the firm were :

2001 – ` 12,000 ; 2002 – ` 18,000

2003 – ` 16,000 ; 2004 – ` 14,000

Calculate the amount of Goodwill.

43. \õµuõ, \¢v¯õ GßÓ TmhõÎPÒ •øÓ÷¯ 4 : 3 GÝ® ÂQuzvÀ C»õ£®

£Qº¢x Á¢uÚº. ÷\õ¤¯õ Gß£Áøµ C»õ£zvÀ  GßÓ
1

5
 £[QÀ TmkUSa

÷\ºzuÚº. ¦v¯ C»õ£¨ £QºÄ ÂQu® PnUQkP.

Saradha and Sandhiya were sharing profits in the ratio 4 : 3.  Sofia was admitted with

1
th

5
 share in profits of business.  Calculate the new profit ratio.

44. £õsi¯ß Áøµ¯Ö {Ö©® JßÖ `  100 Ãu®  1,000 £[SPøÍ  `  20
•øÚ©zvÀ öÁÎ°mhx. SÔ¨÷£mk £vÄ u¸P.

Pandian Ltd. issued 1,000 shares of ` 100 each @ a premium of ` 20 per share.  Pass
Journal entry.
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£Sv & C / PART - C

SÔ¨¦ : (i) H÷uÝ® I¢x ÂÚõUPÐUS Âøh¯ÎUPÄ®. CÁØÖÒ 45 &Áx
ÂÚõÂØS Pmhõ¯® Âøh¯ÎUP ÷Ásk®.

(ii) P¸zv¯À \õº¢u ÂÚõUPÒ JÆöÁõßÔØS® 150 ÁõºzøuPÐUS
ªPõ©À Âøh¯ÎUPÄ®.

Note : (i) Answer any five questions including question number 45 which is
compulsory.

(ii) Answer to theory questions should not exceed 150 words each.

45. (A) 31.03.2005 AßøÓ¯ C¸¨£õ´Âß£i £Ø£» PhÚõÎPÒ ` 65,000.

\›UPmkuÀPÒ :

(i) ` 5,000 ÁõµõU Phß ÷£õUöPÊxP.

(ii) PhÚõÎPÒ «x 5% Áõµõ I¯UPhß JxUS E¸ÁõUSP.

(iii) PhÚõÎPÒ «x 2% uÒÐ£i JxUS E¸ÁõUSP.

\›UPmk¨ £vÄPÒ u¢x, CÆÂÁµ[PÒ CÖvU PnUSPÎÀ GÆÁõÖ
÷uõßÖ® GÚU PõmkP.

AÀ»x

(B) v¸. ø\©ß Gß£Áº uÚx HkPøÍ JØøÓ¨ £vÄ •øÓ°À £µõ©›zx
Á¸QÓõº. 01.01.2005 ©ØÖ®  31.12.2005 BQ¯ |õmPÎÀ AÁµx
ö\õzxUPÐ® ö£õÖ¨¦PÐ® RÌUPshÁõÖ C¸¢uÚ.

01.01.2005 

`

31.12.2005 

`

øP°À öµõUP® 20,000 30,000

£Ø£» PhÚõÎPÒ 1,60,000 1,90,000

•u½kPÒ 40,000 40,000

AøÓP»ß 10,000 10,000

£Ø£» PhÜ¢÷uõº 1,00,000 1,20,000

\µUQ¸¨¦ 70,000 1,30,000

AÁº AÆÁõsiÀ ` 40,000 TkuÀ •uÀ Cmhõº. AÁº uÚx ö\õ¢u

ö\»ÂØPõP `  80,000 v¸®£ GkzxU öPõshõº. 2005 &B®
BsiØPõÚ AÁµx C»õ£® AÀ»x |mh® PshÔP.

5x12=60
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(a) The trial balance shows on 31.03.2005 as follows :  Sundry Debtors ` 65,000.

Adjustments :

(i) Bad debts to be written off ` 5,000.

(ii) Provision for bad and doubtful debts be created at 5%.

(iii) Provide discount on debtors at 2%.

Pass Adjusting Entries and also show how these items will appear in the final
accounts.

OR

(b) Mr. Simon keeps his books by single entry system.  His assets and liabilities on
01.01.2005 and 31.12.2005 stood as follows.

01.01.2005 

`

31.12.2005 

`

Cash in hand 20,000 30,000

Sundry Debtors 1,60,000 1,90,000

Investments 40,000 40,000

Furniture 10,000 10,000

Sundry Creditors 1,00,000 1,20,000

Stock 70,000 1,30,000

He introduced an additional capital of ` 40,000.  He withdrew ` 80,000 for
domestic purposes.  Find out profit or loss for the year 2005.

46. ÷u´©õÚzvß ÁøµÂ»UPn® u¸P. ÷u´©õÚ® }UP ÷Ási¯uß
÷uøÁPÒ ¯õøÁ ?

Define depreciation.  What are the reasons for providing depreciation ?

47. öµõUPzvmh £mi¯¼ß ußø©PÒ ©ØÖ® |ßø©PøÍ ÂÍUSP.

What are the characteristics and advantages of cash budget ?

48. {ø» •uÀ •øÓUS® ©õÖ£k® •uÀ •øÓUS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ  ?

Distinguish between fixed capital method and fluctuating capital method.
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49. ÷©õPß u¯õ›¨¦ {ÖÁÚ® 1.4.2010 AßÖ ` 1,95,000 ©v¨¦ÒÍ C¯¢vµzøu
Áõ[Q¯x. Aøu {ÖÄÁuØPõÚ ö\»Ä `  5,000. ‰ßÖ BskPÒ
£¯ß£kzu¨£mh ¤ÓS AÆÂ¯¢vµ®   `  1,20,000 &US ÂØP¨£mhx.
Bsk÷uõÖ® 10% Ãu® ÷u´©õÚ® {ø»zuÁøn •øÓ°À }UP¨£h
÷Ásk®.

PnUPõsk ©õºa 31 &® |õ÷Íõk •iÁuõPU öPõsk •uÀ ‰ßÖ
BskPÐUS C¯¢vµ® PnUS, ÷u´©õÚ® PnUS u¯õº ö\´P.
Mohan Manufacturing Company purchased on 1st April 2010 machinery for ` 1,95,000
and spent ` 5,000 on its installation.  After having used it for three years it was sold for
` 1,20,000.

Depreciation is to be provided every year at the rate of 10% per annum on the fixed
Instalment method.

Prepare machinery account and depreciation account for three years ended on
31st March every year.

50. ¤ßÁ¸® ÂÁµ[PøÍU öPõsk :

(A) ö©õzu C»õ£ ÂQu®

(B) {Pµ C»õ£ ÂQu®

(C) C¯UP C»õ£ ÂQu® •u¼¯ÁØøÓ PnUQkP.

       `       `

ÂØ£øÚ 2,00,000 C¯¢vµ® ÂØÓvÀ |mh® 1,600

ö©õzu C»õ£® 50,000 Ámi ö£ØÓx 800

{ºÁõPa ö\»Ä 1,000 {Pµ C»õ£® 32,000

ÂØ£øÚa ö\»Ä 3,000

From the following details, calculate Gross Profit Ratio, Net Profit Ratio and Operating
Profit Ratio :

       `       `

Sales 2,00,000 Loss on sale of machinery 1,600

Gross Profit 50,000 Interest received 800

Office expenses 1,000 Net profit 32,000

Selling expenses 3,000
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51. ÷\µß, £À»Áß GÝ® TmhõÎPÒ •øÓ÷¯ ` 60,000, ` 20,000 •u¼mk
2005 áÚÁ› 1 &® |õÒ AßÖ Tmhõsø©z öuõÈÀ öuõh[QÚº. 2005
i\®£º 31&® |õ÷Íõk •iÁøh²® Bsiß C»õ£® (Ehß£õmiÀ
TÓ¨£mhøÁPøÍa \›UPmk® •ß¦ ) ` 12,000  •uÀ «x Ámi BskUS
6% AÝ©vUP¨£kQÓx. £À»ÁÝUS Fv¯® BskUS `  3,000

AÝ©vUP¨£mkÒÍx. A¢u Bsk ÷\µß Gkzu öuõøP ` 2,000, £À»Áß
Gkzu öuõøP ` 1,000, AuØPõÚ Ámi •øÓ÷¯ ` 100, ` 50 BS®.

÷\µß, £À»Áß BQ¯ C¸Á¸® \©©õÚ ÂQuzvÀ C»õ£® £Qº¢x
öPõÒÁuõPU öPõsk C»õ£|mh £QºÄ PnUøP²®, TmhõÎPÒ •uÀ
PnUSPøÍ²® (©õÖ£k® •uÀ •øÓ) u¯õ›UPÄ®.

Cheran, Pallavan are partners with capitals of ` 60,000 and ` 20,000 respectively
on 1st January 2005.  The trading profit  (before taking into account the provision of the
deed) for the year ended 31st December, 2005 was ` 12,000.  Interest on capital is to be
allowed at 6% per annum.  Pallavan is entitled to a salary of ` 3,000 per annum.  The
drawings of the partners were Cheran ` 2,000 and Pallavan ` 1,000 ; the interest on
drawings for Cheran being ` 100 and for Pallavan ` 50.

Assuming that Cheran, Pallavan are equal partners, prepare the Profit and Loss
Appropriation Account and the partners capital account, also assuming that the capitals
are fluctuating.

52. ö\ÀÁ® Áøµ¯Ö {Ö©® •ØÖ® AøÇUP¨ö£ØÓ ` 10 •P©v¨¦øh¯ 1,000
£[SPøÍ CÖv AøÇ¨¦ ̀  3 ö\¾zuõu PõµnzvÚõÀ JÖ¨¤Ç¨¦ ö\´uÚº.
CvÀ 800 £[SPøÍ £[öPõßÖUS ` 8 Ãu® •ÊÁx® ö\¾zu¨£mh
£[SPÍõP ©ÖöÁÎ±k ö\´ux. ÷uøÁ¯õÚ SÔ¨÷£mk £vÄPÒ u¢x,
£[S JÖ¨¤Ç¨¦ PnUS ©ØÖ® •u¼Ú Põ¨¦ PnUS u¯õº ö\´¯Ä®.

Selvam Ltd., forfeited 1,000 equity shares of ` 10 each fully called upon which final call
of ` 3 has not been paid.  Out of these 800 shares were re-issued at ` 8 per share as fully
paid up.  Give necessary Journal entries and prepare Ledger accounts for Forfeited
Shares Account and Capital Reserve Account.
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3x20=60

£Sv & <<D / PART - D

SÔ¨¦ : GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUS Âøh¯ÎUPÄ®. CÁØÖÒ 53 &Áx
ÂÚõÂØS Pmhõ¯® Âøh¯ÎUP ÷Ásk®.

Note : Answer any three questions including question number 53 which is compulsory.

53. (A) v¸. A•uµ\ß Gß£Áº •Êø© ö£Óõ Cµmøh¨ £vÄ •øÓ°À uß
HkPøÍ øÁzxÒÍõº. RÌUPsh ÂÁµ[PÎ¼¸¢x 31.3.2012 |õ÷Íõk
•iÄÖ® BsiØPõÚ Â¯õ£õµ »õ£ |mh PnUøP²® ©ØÖ® C¸¨¦
{ø» SÔ¨ø£²® u¯õº ö\´¯Ä®.

1.4.2011    

`

31.3.2012   

`

PhÜ¢÷uõº 37,500 43,750

AøÓP»ß 2,500 2,500

öµõUP® 6,250 10,000

PhÚõÎPÒ 62,500 87,500

\µUQ¸¨¦ 25,000 12,500

©ØÓ ÂÁµ[PÒ :     `

Gk¨¦PÒ 10,000

ö£ØÓ uÒÐ£i   3,750

AÎzu uÒÐ£i   2,500

PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP®    1,35,000

PhÜ¢÷uõ¸US ö\¾zv¯ öµõUP®       1,12,500

ÂØ£øÚz v¸¨£®  3,750

öPõÒ•uÀ v¸¨£®  1,250

£Ø£» ö\»ÄPÒ  8,750

AøÓP»ß «x ÷u´©õÚ® 5% }UP¨£h ÷Ásk®.

AÀ»x
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(B) A, B GßÓ TmhõÎPÒ •øÓ÷¯ 3 : 2 GßÓ ÂQuzvÀ C»õ£ |mh®
£Qº¢x Á¢uÚº. 31.3.2012 &B® |õøÍ¯ C¸¨¦{ø» SÔ¨¦
¤ßÁ¸©õÖ :

              ö£õÖ¨¦PÒ ` ö\õzxUPÒ `

ö\¾zxuØS›¯ ©õØÖa^mk 75,000 öµõUP® 15,000

PhÜ¢÷uõº 1,20,000 \µUQ¸¨¦ 30,000

PhßPÒ 1,35,000 PhÚõÎPÒ 1,50,000

ö£õx Põ¨¦ 45,000 C¯¢vµ® 75,000

•uÀ PnUSPÒ: Pmih® 4,50,000

A   3,00,000 •u½kPÒ 1,00,000

B   2,25,000 5,25,000 |Øö£¯º 80,000

9,00,000 9,00,000

AÁºPÒ 2012 H¨µÀ 1 AßÖ ‘C’ Gß£Áøµ RÌUPõq®

\›PmkuÀPÐUSm£mk 
1

5
 £[QØS TmhõÎ¯õP ÷\ºzxU öPõÒÍ J¨¦U

öPõshÚº.

(i) ‘C’ ` 1,50,000 •uÀ öPõsk Áµ ÷Ásk®

(ii) |Øö£¯º ` 1,00,000 GÚ ©v¨¤h¨£h EÒÍx

(iii) Pmih® «x ` 20,000 ÷u´©õÚ® }USÁx

(iv) PhÜ¢÷uõ›À ` 30,000 ÷£õUöPÊu¨£h ÷Ásk®

©Ö©v¨¥mkU PnUS, •uÀ PnUSPÒ ©ØÖ® ¦v¯ Tmhõsø©°ß
C¸¨¦{ø» SÔ¨¦ u¯õº ö\´¯Ä®.
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(a) From the following information, prepare Trading and Profit and Loss Account
and Balance Sheet as on 31.3.2012 of Mr. Amudharasan who keeps his books on
incomplete double entry system.

1.4.2011    

`

31.3.2012   

`

Sundry Creditors 37,500 43,750

Furniture 2,500 2,500

Cash 6,250 10,000

Sundry Debtors 62,500 87,500

Stock 25,000 12,500

Other details : `

Drawings    10,000

Discount received      3,750

Discount allowed      2,500

Cash received from debtors 1,35,000

Cash paid to creditors 1,12,500

Sales Returns      3,750

Purchase Returns      1,250

Sundry expenses paid      8,750

Charge depreciation on furniture at 5% p.a.

OR
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(b) A and B were partners sharing profits in the ratio 3 : 2.  Their Balance Sheet as on
31.3.2012 was as follows :

Liabilities ` Assets `

Bills payable 75,000 Cash in hand 15,000

Creditors 1,20,000 Stock 30,000

Loans 1,35,000 Debtors 1,50,000

General Reserve 45,000 Machinery 75,000

Capital accounts : Building 4,50,000

A   3,00,000 Investments 1,00,000

B   2,25,000 5,25,000 Goodwill 80,000

9,00,000 9,00,000

On 1st April 2012 they agreed to admit ‘C ’ into the firm for 
1
th

5
 share of future

profits on the following terms :

(i) ‘C ’ to bring ` 1,50,000 as capital

(ii) Goodwill was valued at ` 1,00,000

(iii) Depreciate building by ` 20,000

(iv) ` 30,000 creditors to be written off

Prepare Revaluation Account, Capital Account and the Balance Sheet of the new
firm.
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54. R÷Ç öPõkUP¨£mi¸US® ÂÁµ[PøÍU öPõsk v¸©v. Ps©o
AÁºPÎß 2004 ©õºa  31 &® |õ÷Íõk •iÁøh²® BskUS›¯ Â¯õ£õµ
C»õ£ |mhU PnUøP²®, A¢|õøÍ¯ C¸¨¦ {ø»USÔ¨ø£²® u¯õº
ö\´¯Ä®.

ÂÁµ® £ØÖ        
`

ÁµÄ        
`

•uÀ 7,50,000

öµõUP® 40,000

Pmih® 4,00,000

\®£Í® 1,10,000

ÁõhøP²® Á›²® 21,000

öuõhUPa \µUQ¸¨¦ 1,20,000

C¯¢vµ® 1,20,000

Gk¨¦PÒ 40,000

öPõÒ•uÀ 5,00,000

ÂØ£øÚ 7,50,000

EÒyUS T¼ 5,000

G›ö£õ¸Ò ©ØÖ® Áõ² 37,000

£Ø£» PhÚõÎPÒ 2,50,000

£Ø£» PhÜ¢÷uõº 1,20,000

ö£ÖuØS›¯ ©õØÖa ^mkPÒ 53,000

£[Põuõ¯® 28,000

Phß 60,000

ÁõµõUPhß 2,000

ÂÍ®£µ® 16,000

ö£ØÓ PÈÄ 6,000

17,14,000 17,14,000

C¸¨£õ´Ä
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\›UPmkuÀPÒ :
(i) CÖva \µUQ¸¨¦ ` 1,40,000

(ii) Pmih® «x ÷u´©õÚ® 10% p.a. }USP
(iii) •uÀ «x 10% p.a. Ámi E¸ÁõUSP
(iv) •ßTmi ö£ØÓ PÈÄ ` 1,000

(v) •ßTmia ö\¾zv¯ \®£Í® ` 10,000

From the following particulars of Mrs. Kanmani prepare Trading and Profit and Loss
Account and Balance Sheet for the year ending 31st March 2004.

Particulars
Debit

`

Credit

`

Capital 7,50,000

Cash 40,000

Buildings 4,00,000

Salary 1,10,000

Rent and Taxes 21,000

Opening Stock 1,20,000

Machinery 1,20,000

Drawings 40,000

Purchases 5,00,000

Sales 7,50,000

Carriage inwards 5,000

Fuel, Gas 37,000

Sundry Debtors 2,50,000

Sundry Creditors 1,20,000

Bills Receivable 53,000

Dividend 28,000

Loan 60,000

Bad debts 2,000

Advertisement 16,000

Commission received 6,000

17,14,000 17,14,000

Trial Balance
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Adjustments :

(i) Closing stock ` 1,40,000

(ii) Write off depreciation on buildings at 10% p.a.

(iii) Provide interest on capital at 10% p.a.

(iv) Commission received in advance ` 1,000

(v) Prepaid Salary ` 10,000

55. ¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x ¤ßÁ¸ÁÚÁØøÓU PnUQkP.

(i) |h¨¦ ÂQu®

(ii) }ºø© ÂQu®

(iii) ¦Ó AP¨ ö£õÖ¨¦PÒ ÂQu®

(iv) E›ø©¯õÍº ÂQu®

2008 ©õºa  31 &® |õøÍ¯ C¸¨¦{ø»U SÔ¨¦.

ö£õÖ¨¦PÒ ` ö\õzxUPÒ `

£[S•uÀ 70,000 {ø»a ö\õzxUPÒ 65,000

Põ¨¦PÒ 5,000 \µUQ¸¨¦ 15,000

PhßPÒ 37,500 £Ø£» PhÚõÎPÒ 30,000

PhÜ¢÷uõº 25,000 ö£ÖuØS›¯ ©õØÖa^mk 10,000

Á[Q ÷©À Áøµ¨£ØÖ 5,000 öµõUP® 5,000

|Øö£¯º 17,500

1,42,500 1,42,500

From the following Balance Sheet calculate :

(i) Current Ratio

(ii) Liquid Ratio

(iii) Debt Equity Ratio

(iv) Proprietory Ratio
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Balance sheet as on 31.3.2008

Liabilities ` Assets `

Share Capital 70,000 Fixed Assets 65,000

Reserves 5,000 Stock 15,000

Loans 37,500 Sundry Debtors 30,000

Creditors 25,000 Bills Receivable 10,000

Bank Overdraft 5,000 Cash 5,000

Goodwill 17,500

1,42,500 1,42,500

56. ¤ßÁ¸® ÂÁµ[PÎ¼¸¢x ©õºa, H¨µÀ, ÷© 2005 ©õu[PÐUPõÚ öµõUPz
vmh¨ £mi¯À u¯õº ö\´¯Ä®.

©õu®

Phß 

ÂØ£øÚ 
`

Phß 

öPõÒ•uÀ
`

T¼ 
`

£ÀÁøPa 

ö\»ÄPÒ 
`

A¾Á»Pa 

ö\»ÄPÒ 
`

áÚÁ› 60,000 36,000 9,000 4,000 2,000

¤¨µÁ› 82,000 38,000 8,000 3,000 1,500

©õºa 84,000 33,000 10,000 4,500 2,500

H¨µÀ 78,000 35,000 8,500 3,500 2,000

÷© 56,000 39,000 9,500 4,000 1,000

(i) öuõhUP öµõUP C¸¨¦ ` 8,000.

(ii) ÁõiUøP¯õÍºPÐUS AÎUP¨£mh PhÛß Põ»® J¸ ©õu®.

(iii) \µUPÎz÷uõº AÝ©vzu PhÛß Põ»® Cµsk ©õu[PÒ.

(iv) T¼ ©ØÖ® £ÀÁøPa ö\»ÄPÒ A÷u ©õuzvÀ ö\¾zu¨£h ÷Ásk®.

(v) A¾Á»Pa ö\»ÄPÒ J¸ ©õu Põ» CøhöÁÎ°À ö\¾zu¨£kQßÓÚ.
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Prepare a cash budget for the months March, April and May 2005 from the following
information :

Month
Credit Sales 

`

Credit Purchases 

`

Wages 

`

Misc. Expenses 

`

Office Expenses 

`

January 60,000 36,000 9,000 4,000 2,000

February 82,000 38,000 8,000 3,000 1,500

March 84,000 33,000 10,000 4,500 2,500

April 78,000 35,000 8,500 3,500 2,000

May 56,000 39,000 9,500 4,000 1,000

Additional informations :

(i) Opening cash balance ` 8,000.

(ii) Period of credit allowed to customers one month.

(iii) Period of credit allowed by suppliers two months.

(iv) Wages and miscellaneous expenses are payable in same month.

(v) Lag in payment of office expenses is one month.
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57. `\ß Q÷µì ¼ªöhm {Ö©® £[öPõßÖ ` 100 •P ©v¨¦øh¯ 20,000
£[SPøÍ  ` 120 &US öÁÎ°mhx. öuõøP ¤ßÁ¸©õÖ ö\¾zu¨£h
÷Ásk®.

Âsn¨£zvß ÷£õx ` 25

JxURmiß ÷£õx ` 45 (` 20 •øÚ©® Em£h)

•uÀ AøÇ¨¤ß ÷£õx ` 25

CÖv AøÇ¨¤ß ÷£õx ` 25

£[SPÒ AøÚzx® Âsn¨¤UP¨£mk JxURk ö\´¯¨£mhÚ. C¸
AøÇ¨¦PÐ® ÂkUP¨£mk öuõøPPÒ AøÚzx® •Êø©¯õP
ö£Ó¨£mhÚ. SÔ¨÷£mk¨ £vÄPÒ u¢x Á[QU PnUS, £[S•uÀ
PnUS, £zvµ •øÚ©U PnUS ©ØÖ® C¸¨¦ {ø»U SÔ¨¦ u¯õ›UPÄ®.

Susan Grace Ltd., issued 20,000 shares of ` 100 each at ` 120 payable as follows :

On Application ` 25

On Allotment ` 45 (including premium ` 20)

On First call ` 25

On Final call ` 25

All the shares are fully subscribed.  Both the calls were made and all the money were
duly received.

Pass Journal Entries.  Prepare Bank Account, Share Capital Account, Securities Premium
Account and Balance Sheet.

- o 0 o -


